## A FIXED POINT THEOREM FOR GENERALIZED CONTRACTION MAP

A. CARBONE<sup>1</sup>, B. E. RHOADES<sup>2</sup>

#### AND

## S. P. SINGH<sup>3</sup>

<sup>1</sup>Dipartimento di Matematica, Universita della Calabria, 87036 Arcavacata di Rende (CS), Italy

<sup>2</sup>Department of Mathematics, Indiana University, Bloomington, IN, U.S.A.

<sup>3</sup>Department of Mathematics & Statistics, Memorial University, St. John's, NF, Canada, AIC 5S7

(Received 16 July 1987; after revision 2 November 1988)

In this paper we prove a fixed point theorem for a generalized contraction map introduced by Altman and then derive a few known results as corollaries.

Altman<sup>2</sup> proved the following interesting theorem: Let x be a complete metric space and  $f: x \rightarrow x$  a generalized contraction, i.e.,

$$d(fx, fy) \leq Q(d(x, y))$$
 for all  $x, y \in X$ ,

where Q satisfies the following:

- (a) 0 < Q(t) < t, for all  $t \in (0, t_1]$ ,
- (b) g(t) = t/(t Q(t)) is nonincreasing,

(c) 
$$\int_{0}^{t_{1}} g(t) dt < \infty$$

and

(d) Q is nondecreasing.

Then f has a unique fixed point (see also Altman<sup>1</sup>).

Recently Watson et al.<sup>6</sup> pointed out that the fixed point is not necessarily unique under conditions (a), (b) (c) and (d). Carbone and Singh<sup>3</sup> gave a suitable example showing that the fixed point is, indeed, not unique.

Watson et al.<sup>6</sup> proved a theorem for a pair of mappings showing that Fx = Gx has a unique solution under a set of conditions, where F is a generalized contraction

and G is an expansive map. Their theorem improves a result due to Norris and Sehgal<sup>4</sup>.

Our aim is to prove the following theorem and to derive a few known results as corollaries.

Theorem 1—Let X be a complete metric space and let f,  $h: X \to X$  be continuous functions such that

$$d(hx, hy) \leq Q(m(x, y))$$
 for  $x, y \in X$ 

where

$$m(x, y) = \max \left\{ d(fx, fy), d(fx, hx), d(fy, hy), \frac{d(fx, hy) + d(fy, hx)}{2} \right\}.$$

Also suppose

(i) f and h are weakly commuting, i.e.

$$d(hfx, fhx) \leq d(fx, hx)$$
, and

(ii) 
$$h(X) \subset f(X)$$
.

Then f and h have a unique common fixed point. (i.e., there exists  $x_0 \in X$  such that  $fx_0 = x_0 = hx_0$ ).

In this case Q satisfies the following:

Q is a real-valued function such that

(a) 
$$0 < Q(y) < y$$
 for  $y > 0$ , and  $Q(0) = 0$ ,

(b) 
$$g(y) = y/(y - Q(y))$$
 is nonincreasing on  $(0, \infty)$ ,

(c) 
$$\int_{0}^{\nu_{1}} g(y) dy < \infty \text{ for each } y_{1} > 0,$$

and

(d) Q(y) is nondecreasing.

PROOF: Suppose x and y are distinct common fixed points of f and h. Then m(x, y) > 0, since  $fx \neq hy$ . Hence,

$$d(hx, hy) \leq Q(m(x, y)) < \max \{d(fx, fy), 0, 0, d(fx, fy)\},\$$

a contradiction.

To prove the existence, take  $x_0$  in X and set  $t_1 = d$   $(hx_0, fx_0)$ . Suppose  $t_1 = 0$ . Then

$$d(hhx_0, hx_0) \leqslant Q(m(hx_0, x_0))$$

where

$$m(hx_0, x_0) = \max \left\{ d(fhx_0, fx_0), d(fhx_0, hhx_0), d(fx_0, hx_0), \frac{d(fhx_0, hx_0) + d(fx_0, hhx_0)}{2} \right\}.$$

Since f and h are weakly commuting and  $fx_0 = hx_0$ ,

we have

$$d\left(fhx_0,\,hhx_0\right)=0.$$

Hence

$$m(hx_0, x_0) = d(hhx_0, hx_0).$$

Note that  $m(hx_0, x_0)$  must be zero, otherwise  $m(hx_0, x_0) > 0$  would imply

$$d(hhx_0, hx_0) \leq Q(m(hx_0, x_0)) < d(hhx_0, hx_0)$$

a contradiction.

Thus  $m(hx_0, x_0) = 0$ , i.e.,  $hx_0$  is a fixed point of h.

But then

$$ffx_0 = fhx_0 = hhx_0 = hx_0 = fx_0$$

i.e.,

$$fx_0 = hx_0$$
 is a fixed point of  $f$ .

We may assume, now that  $t_1 > 0$ . Since  $h(X) \subset f(X)$  there exists an  $x_1 \in X$  with  $fx_1 = hx_0$ . In general, define  $\{x_n\} \subset X$  so that  $fx_n = hx_{n-1}$ ,  $n \ge 1$ .

Without loss of generality we may assume that  $fx_n \neq hx_n$  for each n. For if  $fx_n = hx_n$  for some n, then a repeat of the above argument, with  $x_0$  replaced by  $x_n$ , yields  $fx_n$  as a common fixed point of f and h.

Define  $\{t_n\}$  by  $t_{n+1} = Q(t_n)$ , with  $t_1 = d(hx_0, fx_0)$ . It then follows by assumption a) of Theorem 1 that

(i)  $0 < t_{n+1} \le t_n \le t_1$ ,  $n \ge 1$ . Moreover, by hypotheses (b) and (c), the series  $\sum_{n \ge 1} t_n$  converges (see Altman<sup>1</sup>). Furthermore, by induction on  $n \in N$ , we have

(ii) 
$$d(hx_n, hx_{n-1}) \leq t_{n+1}, n > 1$$
.

Indeed, for n = 1,

$$d(hx_1, hx_0) \leq Q(m(x_1, x_0))$$

where

$$m(x_1, x_0) = \max \left\{ d(fx_1, fx_0), d(fx_1, hx_1), d(fx_0, hx_0), \frac{d(fx_1, hx_0) + d(fx_0, hx_1)}{2} \right\}$$

$$= \max \left\{ d(hx_0, fx_0), d(hx_0, hx_1), d(fx_0, hx_0), \frac{d(fx_0, hx_1)}{2} \right\}$$

$$= \max \left\{ d(hx_0, fx_0), d(hx_0, hx_1) \right\} > 0.$$

Now, if  $m(x_1, x_0) = d(hx_0, hx_1)$ , then

$$d(hx_1, hx_0) \leq Q(m(x_1, x_0)) < d(hx_0, hx_1)$$

a contradiction.

Then

$$m(x_1, x_0) = d(hx_0, fx_0) = t_1.$$

Thus (ii) is proved for n = 1.

Assume now that (ii) holds for some n > 1. Then

$$d(hx_{n+1}, hx_n) \leq Q(m(x_{n+1}, x_n)),$$

where

$$m(x_{n+1}, x_n) = \max \left\{ d(fx_{n+1}, fx_n), d(fx_{n+1}, hx_{n+1}), d(fx_n, hx_n), \frac{d(fx_{n+1}, hx_n) + d(fx_n, hx_{n+1})}{2} \right\}$$

$$= \max \left\{ d(hx_{n+1}, hx_n), d(hx_n, hx_{n-1}) \right\}.$$

Note that by the assumption  $fx_n \neq hx_n$  for all n,  $m(x_{n+1}, x_n) > 0$  for all n. If  $m(x_{n+1}, x_n) = d(hx_{n+1}, hx_n)$ , then we get

$$d(hx_{n+1}, hx_n) \leq Q(m(x_{n+1}, x_n)) < d(hx_{n+1}, hx_n)$$
, a contradiction.

Therefore,

$$m(x_{n+1}, x_n) = d(hx_n, hx_{n-1})$$

and

$$d(hx_{n+1}, hx_n) \leq Q(d(hx_n, hx_{n-1}))$$

$$\leq Q(t_{n+1}) = t_{n+2}.$$

Clearly  $\{hx_n\}$  is a Cauchy sequence. In fact, if m and n are natural numbers with  $m \le n$ , then

$$d(hx_m, hx_n) \leqslant \sum_{i=m}^{n-1} d(hx_i, hx_{i+1}) \leqslant \sum_{i=m}^{n-1} t_{i+2}.$$

The convergence of  $\sum_{n\geq 1} t_n$  implies that  $\{hx_n\}$  is a Cauchy sequence, hence converges to a point  $y\in X$ . Since  $hx_n=fx_{n+1}$ ,  $\{fx_n\}$  also converges to y. Since f is continuous we get  $fhx_n\to fy$ . But f and h weakly commute. Hence we get  $d(hfx_n,fy)\leqslant d(hfx_n,fhx_n)+d(fhx_n,fy)$ , and  $hfx_n\to fy$ .

Since h is also continuous,  $hfx_n \to hy$ , so hy = fy.

Then, a repeat of the argument at the beginning of the proof with  $x_0$  replaced by y, yields hy = fy as a common fixed point of f and h.

The following results follow as Corollaries:

Corollary 1—If we replace weakly commuting by the commuting property i.e. fhx = hfx for all  $x \in X$ , in Theorem 1, then f and h have a unique common fixed point. Note: Recall that commuting  $m_4ps$  are weakly commuting, but not conversely (see Sessa<sup>5</sup>).

Corollary 2—If m(x, y) is replaced by d(fx, fy) in Theorem 1, then f and h have a unique common fixed point.

Corollary 3—We get a result due to Carbone and Singh<sup>3</sup> by putting d(fx, fy) for m(x, y) and commuting for weakly commuting in Theorem 1.

Corollary 4—In Corollary 3, if we put f = I, the identity function, then we get a theorem of Watson et al.<sup>6</sup>.

Theorem 1 can be used to find the solution of an operator equation of the form hx = Gx, under suitable conditions on G.

We state the following given in Watson et al.6.

Theorem 2—Let  $h, G: X \rightarrow X$  be such that

- (i) h is as in Theorem 1 with f = I, and m(x, y) = d(fx, fy),
- (ii)  $d(Gx, Gy) \ge d(x, y)$  for all  $x, y \in X$  and
- (iii)  $h(X) \subseteq G(X)$ .

Then hx = Gx has a unique solution z and for every

$$x_0 \in X$$
,  $\lim_{n \to \infty} (G^{-1} h)^n x_0 = z$ .

In this case  $G^{-1}$  h satisfies the conditions of Corollary 4 (see Watson et al.<sup>6</sup> for details).

### ACKNOWLEDGEMENT

We express our sincere thanks to Professors V. M Sehgal and Bruce Watson for stimulating discussions. We express our thanks to the referee for his observation that the results of this paper will hold true if the weakly commuting condition is replaced by the more general notion of compatibility introduced by Jungck (Int. J. Math. Math, Sci. 9 (4) (1986), 771-79).

# REFERENCES

- 1. M. Altman, Bull. Austr. Math. Soc. 10 (1974), 51-58.
- 2. M. Altman, Am. Math. Monthly 82 (1975), 827-29.
- 3. A. Carbone and S. P. Singh, Indian J. pure appl. Math. (to appear).
- 4. C. W. Norris and V. M. Sehgal, Math. Japon. 5 (1979), 525-27.
- 5. S. Sessa, Publ. Inst. Math. 32 (46) (1982), 149-53.
- B. Watson, B. A. Meade and C. W. Norris, *Indian J. pure appl. Math.* 17 (9) (1986), 1092-93.